Convert the Units of Weight. worksheets 2

a.2580g=2kg 58049 i. 9 kg 550 g =9550¢g

j. 7992 g = kg
b. kg 8 = g

k. 3597 g = kg
c. 2kg 303 g = g

l. 0 kg 650 g =
d.1125 g = kg g

m. 2 kg 779 g =
e.5kg 584 g = g

n. 1486 g = kg
f.8 kg 785 g = g

0. 6420 g = kg

g. 5kg 819¢g = g
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Worksheets 2 answers

a.2580g=2kg 58049 i. 9 kg 550 g =9550¢g

j.7992 g =7kg 9924
b. kg 8 = 8000 g

k. 3597 g =

|W

kg 597 g

c. 2kg 303 g = 2303 g

.0 kg 650 g =_650¢g
d.1125g=1kg 125g¢g

m. 2 kg 779 g = 2779 g
e. 5kg 584 g = 5584 g

n. 1486 g=1kg 486 g
f.8 kg 785 g = 8785 g

0.6420g=6kg 4209
g. 5kg 819g =5819g¢g
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